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[k
40

SA - T - GRI(SH) - NRARY 0 bt Coe | Hmsz | maEas | A
DENEEES] 321,200 329,000
)Lz BY 307,800 307,800
2)EAF HIE NIH 3,000 3,000
)| A 5,000 5,000
2)BAL HAMAS 5,400 7,200
1eZHIIE Ml 21,000 36,000
2)SIZHIIZ XMelHl2 15,000
2)2ZHIIE el M88J| FiHIs 6,000
1 AlEHIZL S ORI 87,000 120,000 233,000
1 Al 87,000 120,000 A33,000| 022 S3 ol HE[ 706
25 ANHLH 242
Olst Al 2
NEA SR T2 50,000 50,000
NEAN SFAEE A 6,000
2)d )| WAl 6,000
NS UM HAY| 25,000
1)SHEA HIAE AXIH 6,000
405 THAHESH| 10,000 15,000 25,000
01 AL EEFISH| 10,000 15,000 5,000 | O22Lt S2 ot 706
e 82 4R 242
TS 20
NEAF IR 2 HH|7Q) Z2H| 10,000 15,000
a2l 32,026 37,990 25,964 707~708
201 LEt2 Y| 32,026 37,990 25,964
02 2224l 32,026 37,990 A5,964 OQOZSH NEUS BHAGHH
SIZH|, M2l S 2
Ou}o:lﬂat Al =12 oIt
Z=0H
1) XS 28,800 35,400 -
2)H =l 18,000 24,000
2)MIXE & AEHI 7,200 6,000
2) xt==eltl 3,600 5,400
N33 2 HAl 3,226 2,590
2) RS XA 1,400 1,330
2) KIS XHE A 1,000 950
2)EREAMNE L2 (SR 310 310
2)EN0IE 28 0I1SH3R3 516
SAAZMHIA =F &4t 136, 126 113,764 22,362 709~710
203 HFF=&IH| 10,080 11,200 21,120
03 AIHZ=XHRFAIH| 10,080 11,200 21,120 [ OHAHEZI [HE 2
1EAMI X2 HRFEYI 3,690 4,100
122 AIMFHLRFZIY 4,230 4,700
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(Et9l: M2l
SH - B - SR(SH) - NRAY - BES | oo She | vmsZ | BUGEDIAR | s
1NEAHL HYAIRESFEI| 2,160 2,400
204 2 R==AH| 104,400 84,000 20,400
02 SEEHRZH| 104,400 84,000 20,400 | OZA4 S BHE(174) 709
1 HeIEsS| 104,400 84,000
301 YPtENS 21,646 18,564 3,082
10 AR SRRSAAENS 21,646 18,564 3,082| 022712 2 WSt
ABOR olst E0
nss 15,000 12,000
1)24l 5,544 5,544
1) W syl 792 687
1)II=Hl 310 333
ZeEE o2t 494,881 1,122,577 2627,696
= 13,685 3,385
pl 99,032 99,032
Al 86,717 86,417
T 295,447 933,743
g ze| 23t 277,987 243,281 34,706 711~713
101 Q1 24H| 87,705 59,865 27,840
04 JRHH2Z T EE = 87,705 59,865 27,840 | OJIZMZ2X+ & 10Hgt
Z)BEOR ol &2
2AP3A ANT MBS
B e BN
NIIHZ2Z2X 21248| 87,705 59,865
2)J1Z2HH22 Xt el 78,875 53,632
2)J1ZHH22X BEE 8,830 6,233
3)=2= 3,550 2,414
3)=2RIHAEEH 2,797 1,902
I QLYEE 359 244
JnELE 1,381 939
ATHEE 743 734
201 LB 22,944 15,773 7,171
01 AtR2te|H] 7,473 1,800 5,673 | OMalititl S Hid%EsS,
HEa2del 28,
YASAMHLS LI S
Netals
NI=HI(ES) 875 1,500
&9 M= 350 300
WS WL 240
NYIINBLIENE oA 2 1,008
1)THOHCHEl S BIAZS 29 5,000
02 Z==24H| 15,351 13,973 1,378 | O¢=EHl s RANE=H,
JILKZAD| A28
= =O0H
1) AL EHI ST ] 13,731 2,893 o
2)UATHIR X E==H| 7,000 6,000
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(I

I
[0

5 = o ais| = WA (= A
DA - B - SR(SH) - NRAY - BES | oo Se | HEs2 | BAEDAR |
2)BL BAE 2,695 2,695
2)NEBLME =8 2,695 2,695
Az 4,340 8,340
2)gd e 80tA3(Ys8) 2,840 3,840
2)HEY 1,500 4,500
301 LetEd=S 26,880 38,400 211,520
14 J|Et2a= 26,880 38,400 A11,520( O22LHI A=ES 01A
270 2ok
NASUASAL ESH X 26,880 38,400
307 212t0|& 35,000 52,300 A17,300
02 QIHH&AIEE X 35,000 49,800 A14,800 | O22LHI A=ES 01A
2702 2ok
NXSYASAH 29X 35,000 49,800
(EAH. 88 8)
405 THAHFH SHI 43,900 16,089 27,811
01 AL EZF=HI 43,900 16,089 27,811 OJILIMZADI & &30
AXHIZY, S 1R
FIEEM e gexie
—0Hd| ZH
DEE:INE 30,000
DNoiEReIASD 7,000 10,000
DES:ES=RG] 6,900 3,000
2)XEE YWALS)] 6,900
2Eg (=228t 7,460 690,462 2683,002 714~715
201 L2 4,400 231,350 N226,950
01 AtR2eld| 3,000 230,000 A227,000 | OZZLHI RIJICkH oK
(-3 & X3
BEoZ &R 015,
SE79H| 2
Ny oY 222 M 2,000
nNZgY s ARE 7Y 1,000
02 Z==24H| 540 1,350 A810 [ OZ=Z2LHI HEETAL
ESZ HRAE
SHZ 404 ofiXl
1N2gEY AsXALE SUES 23 540
03 A2 860 0 860 | OZEHAANE S
2| WS AlY
1N2gae s sy 140
N2 s 2A= 720
203 PRF=&H| 3,060 3,600 ABA0
03 AIMFRHRF=EIH| 3,060 3,600 ABA0| ONAHEZ0 BHE 2%
NAFHEUS LPFE| 3,060
GIOI= Olighatel 162,064 162,064 0 716~717
pl 81,032 81,032
Al 81,032 81,032
203 =4I| 1,500 1,500 0
J| 750 750
Al 750 750
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(E12):

[k
40

SH - B - SR(SH) - NRAY - BES | oo She | vmsZ | BUGEDIAR | s
03 AIMFAHRF=EIH| 1,500 1,500 0
Dolol=2ol SE2e| dRFAY 1,500 1,500
(J1250%, AlHI50%)
Il 750 750
Al 750 750
307 212t0|& 160,564 160,564 0
pl 80,282 80,282
Al 80,282 80,282
01 22 ¥ 3=l 160,564 160,564 0
1olol=2gol X=ZH|(21250%, AlBI50%) 160,564 160,564
Il 80,282 80,282
Al 80,282 80,282
2 HEZAlez202 23| 7,370 6,770 600 718~719
= 3,685 3,385
Al 3,685 3,385
201 ZEH=2EH| 650 0 650
= 325
Al 325
01 AtR2te|H] 650 0 650
NESZA2I|2 EEE28 & S 650
(=2H150%, AlHI50%)
= 325
Al 325
307 212t0|& 6,720 6,120 600
= 3,360 3,060
Al 3,360 3,060
02 QIHH&AIEE X 6,720 6,120 600| O E=22AQE)12 2|
Elds & =0
D2 HIE figez
oIt =0
NESZALSI12 BE(=HI150%, AlHI50%) 6,720 6,120
= 3,360 3,060
Al 3,360 3,060
o S2AHTSEH JAl H o2t 18,000 18,000 0 720
pl 18,000 18,000
307 glztold 18,000 18,000 0
Il 18,000 18,000
02 QIHH&AIEE X 18,000 18,000 0
1SS 2EAEE =AM 23 (012100%) 18,000 18,000
pl 18,000 18,000
Ol0I= AlIEHA 2 XIRAY 2,000 2,000 0 721
Al 2,000 2,000
201 ZEH=2EH| 2,000 2,000 0
Al 2,000 2,000
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(9l

[k
40

SA - BB SRI(SIH) - NRAR - BAS | olae She | Hmsz | BaEDIAR | e
J| 79,537 140,912
Al 52,49 93,004
- 49,598 70,663
Zsize 22,555 22,750 A195 724~725
201 LBt AY| 1,950 1,950 0
01 AtS2teld 320 320 0
NI E> WSKH| S 320 320
03 A2 1,630 1,630 0
1DFIUAHSZEH0E HAF2ZH E2E 700 S 1,630 1,630
203 PRF=&H| 1,105 1,300 A195
03 AIMFRHRF=EIH| 1,105 1,300 A1B|ONAEZH BE 2%
Nz 23 S GRFI| 1,105 1,300
307 g12+0|H 19,500 19,500
01 22 ¥ 3=l 19,500 19,500
1)Z3 0ISH ] 16,470 16,523
NEEAX I S F0H 1,080 1,027
NERUALTSH] & HEI| 1,950 1,950
S FSEC|AY 159,076 281,829 A122,753 726~728
J| 79,537 140,912
Al 52,496 93,004
T 27,043 47,913
101 Q1 24H| 64,381 100,808 A36,427
| 32,190 50,404
Al 21,246 33,267
- 10,945 17,137
04 JRHH2Z T EE S 64,381 100,808 A36,427 | ORI 3Y — 28& A2
1) ZMY2LS AL 2124H| 64,381 100,808
(J12350%, AlHI33%, H117%)
2)20 52,580
J| 26,290
Al 17,351
- 8,939
2)RIEE 1,100
J| 550
Al 363
- 187
2)ETHI 4,400
J| 2,200
Al 1,452
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(B2

[k
40

HEE

RISA

S B SRIEA) - HIRA - BES | olao Siaor | HDEZ | BAEINR |Gl
T 748
2)=0dz 2,416
pl 1,208
Al 797
T 411
2)=0IHAEE 1,903
pl 951
Al 628
T 324
2)YINQLYEE 244
) 122
Al 81
2 41
2) NEMTHEE 1,738
pl 869
Al 574
T 295
201 ZEH=2EH| 3,000 4,500 21,500
Il 1,500 2,250
Al 990 1,485
- 510 765
01 AtR2telH] 1,500 3,000 A1,500( OZ#EEE FH| 2
N2 EEEE L MREE P S 1,500 3,000
(212350%, AlBI33%, 8117%)
Il 750 1,500
Al 495 990
- 255 510
03 A2 1,500 1,500 0
NZHNYws 2A2 2 MEHl S 1,500 1,500
(21250%, AlHI33%, 72H117%)
Il 750 750
Al 495 495
- 255 255
307 glztold 86,781 159, 106 NT2,325
Il 43,390 79,551
Al 28,638 52,506
- 14,753 27,049
01 22 ¥ 3=l 86,781 159, 106 272,325 | OJHHAl S200 [Mhet
JCAAL Ol328Hl S
o= Hgt ZH
OSSNETA H=23
HE OIER
(234 OiIAt 23, 24&
NYAHZE HateRt K& 280 11,336
(J1250%, AlHI33%, 78117%)
Il 140 5,667
Al 2 3,742
- 48 1,927
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(EH:

SA - B OI(3]) - HRAR - BAS | olay Goe | wosz | mas
DEEESEEENIEINIERSEN 17,340 24,533
(D1250%, AlHI33%, 72HI17%)
7| 8,670 12,266
Al 5,722 8,09
— 2,948 4,171
1)ZHASITAL S 8,114 20,692
(D1350%, AIHI33%, 72HI17%)
7| 4,057 10,346
Al 2,678 6,828
- 1,379 3,518
DFAAHES ZaH L B=SAHAR 61,047 79,251
(D1250%, AlHI33%, 72HI17%)
7| 30,523 39,625
Al 20, 146 26,153
- 10,378 13,473
308 XHXISHHISOI™ 4,914 17,415 A12,501
7| 2,457 8,707
Al 1,622 5,746
3 835 2,962
13 2II2ASOICHEHZ A E K EF ALY 4,914 17,415 A12,501| OBZ3 JHHAl 2 2
DNIEZEET 28 X 4,914 17,415
(D1250%, AlHI33%, 72HI17%)
7| 2,457 8,707
Al 1,622 5,746
3 835 2,962
|22 Zsistx} 22X 73,530 110,295 136,765
=2 73,530 110,295
307 2IZH0|® 73,530 110,29 NA36,765
= 73,530 110,295
02 DIZHEAAIIE X 73,530 110,295 NA36,765| OFXZ JHHAl 2% £
1)2II22E o|2)|2 R 28| X 73,530 110,295
(=H1100%)
=2 73,530 110,295
AH(2AHF ) 18,100,762 17,023,296 1,077,466
= 63,298 69,108
7| 24,381 23,188
Al 713,856 734,754
217,299,227 16,196,246
ol 2| 17,814,045 16,650,454 1,163,591
= 63,298 69,108
7| 24,381 23,188
Al 713,856 734,754
T 17,012,510 15,823,404
ol 2| 17,289,536 16,059,310 1,230,226 730~735
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[k
40

FFE - GRI(SIH) - NIRAY - BAES 0 bl Che | vmsz | Bas N

Al 569, 706 561,520
- 16,719,830 15,497,790

101 @I244| 13,778,823 12,643,966 698,799
Al 560,374 538,932
-+ 13,218,449 12,105,034

01 = 11,001,008 9,882,001 682,949
nieEs 6,618,314 6,290,858
2)HEH 435,363 439,970
3= 101,341 99,755
3)53 334,022 340,215
2) e 6,182,951 5,850,888
3)6= 2,450,956 2,311,092
73 1,612,686 1,621,048
3)8= 1,466,579 1,324,754
Al 450,000 403,526
- 1,016,579 921,228
3)9= 652,730 593,994
1&g 658,843 622,252
QJUR3FRAY 101,401 95,955
2)8244 463,722 438,817
2) 23 93,720 87,480
3)25= 014 39,000 42,120
3)20014f 2540|2t 6,600 10,560
3)15014f 20 0(2* 20,160 12,480
3)10=014 15018t 9,360 7,920
3)5E=014 10 0]2t 18,600 14,400
IR E 518,847 218,940
2)t =Y 136,347 127,140
3)H< Xt 58,464 54,768
3)JIEIE 70,992 66,504
3)MIFHOLOI Ol A 6,891 5,868
)0t 382,500 91,800
S22 258,600 283,272
2)RIE2RaY 65,640 65,400
NES 6,600 7,800
R=ES 59,040 57,600
2)ExRay 192,960 217,872
JI=dESL 9,480 9,000
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[k
40

SA - B S9I(3]) - HRAR - BAS Ao Gl HA (52 N
4)6,7= 2,520 6,840
4)8,92 6,960 2,160

R PIE=s =R 3,960 4,560
4)J|Ab 1,800 2,160

4) 8T A 1,200 1,440
4)28 6~7= 240 240
4)28 89= 720 720
3o2dRaL 73,296 89,496
4)Q R 20,4% 20,4%
4)%2X] 4,200 4,200
4)2t5 X 33,000 39,000
4)298Y s A=zgRae 6,000 16,200

4) 2| X 3,000 3,000
4)22I|E A 6,600 6,600
EEESC RS 6,000 5,280
NI INES= 4,200 4,200
NI INEE =l = 1,800 1,080
2R 100,224 109,536
NEW2LLE 1,376,863 1,458,579
2)6= 443,899 463,126
2)7= 359,198 399,342
2)8= 374,978 392,655
2)9= 198,788 203,456
1NRESRASL 1,200 1,200
DEE =28 292,320 273,840
1) HEFOH 618,296 585,089
1) IH2 A 155,817 147,971
HEH (42014 1,889 1,859
HEH(53) 6,224 6,340
SSH 147,704 139,772
=E2XH| 501,908 436,058
42 4,800 4,800
)52 12,000 12,000
62 106,560 92,400
2)7= 92,880 83, 160
2)8~9= 163,800 133,920
YOIH 52 (2 A 43,200 33,600

_37_




(E12):

[k
40

SN - F - GRI(S1H) - NRAY - BES 0 bl She | vms2 | BAGEHIAR |
)M 72(d&201=) 2,220 2,100
2)2JIH 82 (2=J1=) 2,160 0
2)2JIH 9=2(2201=, #H) 4,200 7,440
2)AZHIE DI MI(CHS) 3,885 3,675
)RS E M DM (2t 1,890 0
2)AIZHAE I DM (D= 64,313 56,963

Al 5,070 6,067
T 59,243 50,8%

02 JIEtR E = 2,777,815 2,761,965 s

RN

1) DI 1,255,229 1,291,453
2)Hs 941,165 970,587
3)52(2AH) 746,577 583,680
J7a(d=z201=) 65,715 63,664
3)82(2=2JI=) 48,651 0
39z (2=2II=) 80,222 134,644
2B 10,187 10,920
3)IESY 10,187 10,920
4) B Xt 4,368 4,704
4)J|EDHE 5,304 5,712
4)AEO0l Ol4t 515 504
2)Sx22Y 141,612 141,612
SR (=Y 141,612 141,612
4)°IAH53,62) 139,212 139,212
4)QZ DA 2,400 2,400
)= RAL 121,538 125,337
2)HHZ A 21,840 23,520
2) A2 A 18,887 19,477
1AM S I A 1,522,586 1,470,512
2)Hs 1,010,871 983,921
JBAHHF I ZAHHHE 87,576 147,937
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of
Rl
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ol

55,645

23,962

26,442

234,870

48,834

48,918

48,918

102,412

205,800

40,939

20,470
20,469
48,162

91,592

31,107

36,291

24,194

63,600

44,400

3,840
40,560
19,200
49,789

3,926

45,863

5,847
40,016
24,864

24,864

81,070

24,562

26,505

236,717

36,357

49,367

49,367

49,367

Al

105,805

217,710

45,126

Al

22,563
22,563
50,709

2

102,663

31,861

37,171

33,631

64,800

45,600

3,900
41,700
19,200
51,775

Al

2

3,926

1,626
46,223
4,592
41,631
21,888

Al

—_

21,888

Al

—

2og(0r2)

3)AZze] okt
(AIB1100%)

Mo
ulo

Mo
ulo

n
ulo

3=
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(B2
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40

} _ - pSIE! —~ o A
2 - FHB . O9(ST) - HRAY - Ba= Of &b oﬁ&%ﬂ DY | BN(E M

- 20,544 24,024
2) =22 159,071 148,223
3)C= 9,746 11,281
3)ct= 4,375 0
3)0r2 144,950 136,942
Al 14,496 17,984
- 130,454 118,958
2)HHZAY| 63,840 62,160
Al 5,880 7,560
- 57,960 54,600
2) 2 A 20,285 19,745
Al 1,444 1,915
- 18,841 17,830
) NEBEE 27,393 26,618
Al 1,718 2,019
- 25,675 24,599
HIRE=S 3,510,713 2,979,286
Al 9,332 16,521
- 3,501,381 2,962,765

H3aRE= 2,989,597 2,455,157 SOl

OH

H=22Y= 2,989,597 2,455,157
2)HZ2 82 1,240,811 1,179,551
Al 3,694 6,836
- 1,237,117 1,172,715
)BFS 1,364,892 953,732
Al 2,987 5,527
-+ 1,361,905 948,205
2)E R 359,491 296,579
Al 929 1,720
- 358,562 294,859
2) Mol 2 A2 24,403 25,295
Al 80 148
- 24,323 25,147
=0HAEEHS 521,116 524,129
AABERES S 521,116 524,129
o)AYRERYS 461,941 464,612
Al 1,455 2,032
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= 6,212 5,869
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N -F-2-8-2 Ofl &k 04 A o ak o Hn=2 BA(Z2Z)AR
A2t 11,352,207 9,742,031 1,610,176
200 Mi2l=e 55,000 50,000 5,000
230 XILHBHN - 202 55,000 50,000 5,000
234 DENZ 55,000 50,000 5,000
234-02 J|EFDHEHS 55 000 50,000 5,000 O=d7Y &=z
’ G DEHE S
[ 2ersi ] 55,000 50,000 5,000
< A2 > 55,000 50,000 5,000
1)I3LAASTY 9Iet DE2 55,000
500 Bx2 11,297,207 9,692,031 1,605,176
510 2NRE2S 2,383,387 2,555,881 A172,494
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= 30
Al 21
- 49
NHSKEI| 222 2(2H130%, AlHI21%, 7 600 7,300| 26,700
H149%)
= 180
Al 126
- 204
INEWNEENEENEREES 275,880 242,840 33,040 762-765
Jl 117,940
Al 35,382
T 122,558
201 LBH29H 120,880 125,040 24,160
Jl 60,440
Al 18,132
T 42,308
01 AF2Z2/H 95,260 89,450 5,810
1)2HPAAEIA M= S 10,000 5,000 5,000 | 02017 =tiofl 1=
(J1250%, AlHI15%, 72H135%) ADEH| ZoH
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S - BB ERA(S) - MTAIR - BES oerer | SEE |umz2 | mAE) AR | RS
Jl 5,000
Al 1,500
2 3,500
DERISER=EIERS 5,000 5,000 0
(D12350%, AIHI15%, 72HI35%)
Il 2,500
Al 750
2 1,750
)30 222 S(J12350%, AlHI15%, 7H135%) 12,000 12,000 0
Il 6,000
Al 1,800
2 4,200
1)SCIOHHRT L 2| =2 6,000 6,000 0
(D12350%, AIHI15%, 72H[35%)
Il 3,000
Al 900
32 2,100
1) SISk AR 9,600 9,000 600
(D12350%, AIHI15%, 72H[35%)
Il 4,800
Al 1,440
2 3,360
1) SIS TI=HI(J12350%, AlHI15%, 72H135%) 1,250 1,250 0
7l 625
Al 187
2 438
DEERISE- 1= 26,000 26,000 0
(21350%, AlHI15%, 72H135%)
J1 13,000
Al 3,900
2 9,100
3022 2Y 222 3,910 4,200 A290
(21350%, AlHI15%, 2H135%)
7l 1,955
Al 587
2 1,368
DEERISEPS eyl 20,000 20,000
(21350%, AlHI15%, 2H135%)
21 10,000
Al 3,000
2 7,000
1222y aAgela 1=y 1,000 1,000
(D1250%, AIHI15%, 72HI35%)
7l 500
— 57 —




SH - B BRI() - NBAY - BaS oerer | SEE |umz2 | mAE) AR | RS
Al 150
- 350
1)2¢2elY A EX2E S4Hid| 500 5,400 24,900 OSS23HIE
(I1=250%, AlH115%, 2HI35%) A2 H|Z SHS
e
J| 250
Al 75
- 175
02 332494 7,620 13,590 A5,970 | OHICHH AlEAR =402
T
)28 S@EE ¢ 22 1,980 1,800 180
(21350%, AlHI15%, 2HI35%)
J| 990
Al 297
= 693
1)BE ARE Q3(J1250% AlbI15%, 7HI35%) 600 600 0
J| 300
Al 0
= 210
N2UXNEY SHA2E e 232 450 1,000 4750
(21350%, AlHI15%, 2HI35%)
J| 225
Al 67
- 158
1)RERS(I1350%, AlH115%, 2H[35%) 3,390 8,790 A5,400
2)WEHE DM SERI(SI) 2,530 2,530 0
J| 1,265
Al 380
- 885
2)JIEF QES(Le 860 860 0
J| 430
Al 129
- 301
12X SFHI(21250%, AlH115%, 2H135%) 1,200 1,200 0
J| 600
Al 180
- 420
03 SHAL2EH| 18,000 22,000 A4,000
1EAHNE L 2HNE 2PAH] 10,000 8,000 2,000
(I1=250%, AlH115%, 2H135%)
J| 5,000
Al 1,500
- 3,500
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SA - F - ERI(E) - KIS - oerer | SIS |wmE "G
NESHY 22 M& L iz 8,000 14,000 26,000
(D1250%, AlH115%, 2H135%)
| 4,000
Al 1,200
- 2,800
203 BRF&H| 3,600 4,000 A400
| 1,800
Al 540
- 1,260
FREEREEESE] 3,600 4,000 2400
1)2SA 319, DR, AH0l 3,600 4,00 A0
(J1250%, AlH115%, 2 H135%)
| 1,800
Al 540
- 1,260
301 LA Z 28,800 28,800 0
| 14,400
Al 4,320
- 10,080
14 J|Et2 43 28,800 28,800
12X 8854 28,800 28,800 0
(J1250%, AlH115%, 2H135%)
| 14,400
Al 4,320
- 10,080
307 2I2H0| A 36,000 28,000 8,000
| 18,000
Al 5,400
- 12,600
01 2z & 3=4| 36,000 28,000 8,000
1)SHEXH S 0 36,000 28,000 8,000
(J1250%, AlH115%, 2 H135%)
| 18,000
Al 5,400
- 12,600
401 AlEBIZLL0HY| 85,600 52,000 33,600
| 22,800
Al 6,840
- 55,960
01 Al&HI 85,600 52,000 33,600
NSIEXE M& EX S 9,600 12,000 A2,400
(D1250%, AlH115%, 2H135%)
| 4,800
Al 1,440
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SA - BB S9I(E) - KIRAY - BaS oerer | SEE |umz2 | mAE) AR | RS
T 3,360
NSHAEE ME &X S 16,000 20,000 24,000
(71350%, Alt] 15%, 2H135%)
J| 8,000
Al 2,400
T 5,600
)3 EXIE HME Xl S 20,000 20,000 0
(71350%, Alt] 15%, 2H135%)
J| 10,000
Al 3,000
T 7,000
1)=22CHH LEDZEN2I0IE F0H &X 40,000 0 40,000 | O FRIEGHIN &F
(+ =2 =0l Ol e S
405 KHaHE SH| 1,000 5,000 24,000
J| 500
Al 150
- 350
01 AL =EFSH 1,000 5,000 A4,000 [ Ot S| F0H=
=40 e 2
NESE 2HIY S2I(FUHE 2AHI1) 0ok 1,000 5,000{ A4,000
(71250%, AlBI 1%, T1HI35%)
| 500
Al 150
- 350
e MHIA I~ 9,250 4,050 5,200 766-767
201 L] 8,750 3,500 5,250
01 At22teld| 8,750 3,500 5,250
NRXEAAY HiZ & 2IRAMA S 2,000 1,500 500 (O BLHF W=D
F 2EC2 A
NE2XEHAYE HZHl 4,000 0 4,000
DEXNEHAY EEE2 A S 2,000 2,000 0
NRXEAAZ I TI|=H| 750 0 750
203 BR=4| 500 550 A50
03 AIBF=R SR =AY 500 550 AB0 [ O HE=EH| &8 2
NeExReY 2 |22 2G5 S 500 550
SREAAS 8,275,098 5,671,337 2,603,761
= 258,000
s 34,000
JI 105,002
Al 4,976,990
- 2,901,106
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SN - B ARA(S) - MISAY - BAES oerer | SEE |umz2 | mAE) AR | RS
A2AIMOE HZ2te] XA (HEAIY) 2,703,348| 2,703,348 0 768~769
Al 2,027,511
- 675,837
308 AXIHHSOIE 2,703,348| 2,703,348 0
Al 2,027,511
- 675,837
13 SN2 S0USE XIS A 2,703,348 | 2,703,348 0
1) A2 4180 AZ2e] XIRAAS
(AIHI75%, 7H125%) 2,703,348
Al 2,027,511
- 675,837
MERLIER0| NZAL(ME2E) 4,000 8,190 24,190 770~771
Al 2,000
- 2,000
307 2I2+01 ™ 4,000 8,190 24,190
Al 2,000
- 2,000
01 2= & 2=Hl 4,000 8,190 24,190
NASE MH=RINYT 223 X2 4,000 8,190| A4,190| OJHHAl gt ZH
(AIHI50%, 7H150%)
Al 2,000
- 2,000
A= A2 FH] KA 2,145,000 377,000 1,768,000 772~773
Al 1,071,500
- 1,073,500
201 ZEH2E| 2,000 2,000 0
01 Aty 2,000 2,000
N2IBY L 2282 MR S
2,000
307 2I2H01 A 2,143,000 375,000 1,768,000
Al 1,071,500
=+ 1,071,500
012z € 2=l 2,143,000 375,000 1,768,000 | OIHLHAI E+H SH
1)&rE e ZHIXIR 2,143,000 375,000 1,768,000 | O&t=ZeBH| X2
Al 1,071,500 HIE oIg 0 —
1002k B4 o
= 1,071,500
NASE ABHM S 28| 2,000 2,000 0 774~775
l 1,000
Al 500
- 500
201 23| 2,000 2,000 0
l 1,000
Al 500
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S - BB BRI(3]) - HIRAIY - BAS oerer | SEE |umz2 | mAE) AR | RS
T 500
01 AtR2teld] 2,000 2,000 0
NHASE HLZX ol S E26I(01250%, 2,000 2,000 0
AlB125%, 72H125%)
| 1,000
Al 500
T 500
NASE G0t AZd8 XA 8,100 10,000 1,900 [ OJHLHAI BHE 240K 77e~777
| 4,050
Al 2,025
T 2,025
308 KXIEHHISOIH 8,100 10,000 A1,900
| 4,050
Al 2,025
- 2,025
13 SO 2 SOICHEHE A X ETAISHI 8,100 10,000 A1,900
NHASE YROF ALAX N 8,100|  10,000{ 21,900
(D1250%, AlH125%, 7+8125%)
| 4,050
Al 2,025
- 2,025
HAsE 70t 2 I ZAHl XA 10,000 11,544 A1,544 [ OJHHAL BHE 2t | 778~779
| 5,000
Al 2,500
- 2,500
307 QI2t01 & 10,000 11,544 A1,544
| 5,000
Al 2,500
- 2,500
01 2= & 3=l 10,000 11,544 A1,544
NHASE YR0H LY FUAAHIX 10,000]  11,544| A1,544
(J1250%, AlH125%, 728125%)
| 5,000
Al 2,500
T 2,500
KNEAESE Al2IMEIA SXALS 68,000 68,000 0 780-781
(YROILEXAMLEIA)
s 34,000
Al 17,000
- 17,000
308 AHXISHISOIE 68,000 68,000 0
s 34,000
Al 17,000
- 17,000
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S - BB BRI(3]) - HIRAIY - BAS oerer | SEE |umz2 | mAE) AR | RS
13 SO 2 SOICHEHE A X ETAISHI 68,000 68,000 0
DAISTS AEIMUIAS A (R0t 68,000
XAANYIA) (ZS50%, AlB125%, 78125%)
s 34,000
Al 17,000
- 17,000
HESNEASE HE 998 998 0 782-783
| 300
Al 349
- 349
308 AHXISHISOIE 998 998 0
| 300
Al 349
- 349
13 S| 2SO CHEHE & H &AL I 998 998
NEZEINEA-E M 998 998 0
(J1230%, AlHI35%, 7H135%)
| 300
Al 349
- 349
HAEME O|ZH| K& 6,000 3,600 2,400 O&YUE ARIEEEERA | 784-785
5] 3.000 Qﬂ%‘% FEE
el B o
Al 1,500
- 1,500
308 AHXISHISOIE 6,000 3,600 2,400
| 3,000
Al 1,500
- 1,500
13 SO 2 SOICHEHE A X ETAIS I 6,000 3,600 2,400
NEALAEAMD 2|24 X 6,000 3,600 2,400
(J1250%, AlH125%, 7H125%)
| 3,000
Al 1,500
- 1,500
DAL oj=H| XA 83,911 69,480 14,431 O EE DIXZNH 786-787
S 5.7 AR By S
Al 29,369
- 29,369
307 QI2t01 & 83,911 69,480 14,431
| 25,173
Al 29,369
- 29,369
01 2z & 3=l 83,911 69,480 14,431
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SH - B BRI() - NBAY - BaS oerer | SEE |umz2 | mAE) AR | RS
1) DRSS O|2H| X 83,911 69,480 14,431
(J1=230%, AlHI35%, 2HI35%)
J| 25,173
Al 29,369
- 29,369
HNASE JIMA & ZHES KE 860,000 882,000 422,000 ONMET SHAELHAI 788-789
uhe 2pok
= 258,000
Al 301,000
- 301,000
308 XXM SOIA 860,000 882,000 ~22,000
= 258,000
Al 301,000
-+ 301,000
13 S| 2SHI et E A X &AL 860,000 882,000 222,000
NHASE JIMH &L ZHES XA 860,000 882,000 222,000
(=2H130%, AlHI35%, 2H|35%)
= 258,000
Al 301,000
- 301,000
0l=0F & AAMA0|A0F 9 24| X 73,234 51,000 22,234 OFEAL DIX=H 790-791
Il 21.970 AAIX 2| Bt ZH
Al 25,632
- 25,632
307 2IZ2H01A 73,234 51,000 22,234
J| 21,970
Al 25,632
- 25,632
01 22 & 3=H| 73,234 51,000 22,234
101250 & (A& S0I40F CIZH| X2 73,23  51.000| 22,234
(21230%, AlHI35%, 2HI35%)
J| 21,970
Al 25,632
- 25,632
SESAIOI A ZAF & &tor2t2] 87,700 66,000 21,700 [ OX| 2 CHA X St 792-793
M B mo
J| 26,310
Al 30,695
- 30,695
307 BIZ2H01A 87,700 66,000 21,700
J| 26,310
Al 30,695
- 30,695
01 2l & 3=H| 87,700 66,000 21,700
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HEE

A - F - B3 - AIRAY - BES Ol | G Ryon 52| By(32) AR | RN
NEELUAINY SAE & 8ot 87,700 66,000 21,700
(J12330%, AlH135%, +1H135%)
Jl 26,310
Al 30,695
-+ 30,69
dad H83ZAF & 23] X 6,500 6,800 A300| OHEHAL XX = | 794-795
2L ghey 2o
v 1,920
Al 2,275
- 2,275
307 QIzo| M 6,500 6,800 A300
v 1,920
Al 2,275
- 2,275
01 2= & =|=H| 6,500 6,800 A300
NEdY HY2A & BN 6,500 6,800 A300
(J12330%, AlHI35%, +1H135%)
v 1,920
Al 2,275
- 2,215
NE0D| 2 HES 12,040 10,500 1,540 796-797
201 Zer=E 11,040 10,500 540
01 At 22/t 8,160 7,500 660
NY2EE L MNUSES S 72 3,000 2,000 1,000
NSSX MACQIH 300 0 300
NRERUS Z208 29 A28 S 800 0 800| OFRus =2
(&7) 238 3%
NRSE N2 (MFE S) 7 3,500 4,000 £500
NoLESY S 400 500 A100
1)E+uSH| 160 200 A0
02 S==2Hl 2,880 3,000 A120
NYELE SUE AZ2R3 % 2l 2,880 3,000 A120
203 P 1,000 0 1,000
03 A=Y S =AY| 1,000 1,000
NAS0D| RFRus Z278 29 600 600| OF2uE T2
(&7) 238 3%
1A 8 FR0F Ad22] [ |2 400 0 400| OR2012 2t
FX AREY
g o=l XA 80,500 53,500 27,000 798-799
Al 80,500
101 Q124 27,500 27,500 0
Al 27,500
04 JItHIZ2 NS 2+ 27,500 27,500 0
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S - BB BRI(3]) - HIRAIY - BAS oerer | SEE |umz2 | mAE) AR | RS
1) & 01224 (AlB1100%) 27,500
Al 27,500
201 LEt2 Y| 1,000 1,000 0
Al 1,000
01 AtR2teld] 1,000 1,000 0
AR 282 S JMIZ(AIHI100%) 1,000 1,000 0
Al 1,000
307 2I2t0| & 52,000 25,000 27,000
Al 52,000
01 2z & 3=l 52,000 25,000 27,000 OMEST =ELHAI
vy ol
1) A2 Z XU (AIE1100%) 38,500 11,500 27,000
Al 38,500
1)SAH 22 (AIH1100%) 13,500 13,500 0
Al 13,500
SXEAHAY Bx0IE| 27,497 27,497 0 800-801
| 8,249
Al 9,624
- 9,624
101 @124t 27,497 27,497 0
| 8,249
Al 9,624
- 9,624
04 JIZtHIZ22 RS E= 27,497 27,497 0
N2XEHAIY X0l 27,497 27,497
(J1230%, AlH135%, 7+8135%)
| 8,249
Al 9,624
- 9,624
LIRS Al=H| X3 (HEALY) 1,958,170 1,143,108 815,062| OME L EELHA 802-803
Al 1,272,810 e
-+ 685,360
307 2I2t01 & 1,958,170 1,143,108 815,062
Al 1,272,810
- 685,360
01 2z & 3=d| 1,958,170 1,143,108 815,062
1HURL A=l K& (AlHI165%, 7H135%) 1,958,170 1,143,108 815,062 O2023.7.1.~KI& EH
2SJ1E S HAX
(85223 XI&A)
Al 1,272,810
-+ 685,360
stojet Ux|E XML (E=X) 6,000 0 6,000 OFEZ =ELHA 804-805
vrey o
Al 6,000
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SA - BB S9I(E) - KIRAY - BaS oerer | SEE |umz2 | mAE) AR | RS
307 212+01A 6,000 0 6,000
Al 6,000
01 22 ¥ 2=l 6,000 6,000
1)&eloF HAXIZ(FF) HIS IR (AIHI100%) 6,000 0 6,000
Al 6,000
gtojor U= KIR AR (XEAI) 29,900 30,000 A100 806-807
201 Zer=E| 3,000 3,000 0
01 AtR22t2ld| 3,000 3,000 0
NEAH 2 2123 M S 2,000 2,000 0
NHiH & 82 W& S 1,000 1,000 0
203 HR=&| 500 600 A100
03 AIHFRIHR | 500 600 A100 | OHRFEH| =8 2
A2 2tets| S 500 600 A100
307 212401 26,400 26,400 0
01 22 ¥ 2=l 26,400 26,400 0
1)8tojet el XI=H| X 26,400 26,400
(5%, EXg, ZAM 8)
NE2E Z0te g=5+% X& 86,200 0 86,200 | OME L &HHLHA 808-809
Al 86,200 SR
201 Zer=E| 2,000 0 2,000
Al 2,000
01 At22t2lH| 2,000 0 2,000
nNg=sss I g8 2,000 0 2,000
Al 2,000
301 LetEdS 84,200 0 84,200
Al 84,200
14 JIEIE A= 84,200 84,200
N2R+% UM AHIA HIE 84,200 0 84,200
Al 84,200
HSHI Al EXMA= XA 16,000 0 16,000 | O&IFAIE JHH A 810-811
8,000 e
Al 8,000
307 212401 16,000 0 16,000
J| 8,000
Al 8,000
01 2= & 3/=H| 16,000 0 16,000
NYSHI AL ExMAlz X2 16,000 16,000
(J1250%, AlB150%)
Il 8,000
Al 8,000
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S - BB BRI(3]) - HIRAIY - BAS oerer | SEE |umz2 | mAE) AR | RS
FAHNE BAHMEIA M2 6,633,707| 6,438,185 195,522
= 28,800
@ 241,278
Jl 1,480,304
Al 2,573,145
-+ 2,310,180
SIHAEEKA o ZHI KA 394,400( 1,000,000| 2605,600 812-813
Jl 118,320
Al 138,040
- 138,040
308 AHXISHISOIE 394,400 1,000,000| 2605,600
Jl 118,320
Al 138,040
- 138,040
13 BI12SOHEHE A ELEALS ] 394,400 1,000,000| 2605,600
NEAZEX 2=l X 394,400 | 1,000,000 £605,600| OIHLHAI Bres 2o
(J1230%, AlHI35%, 7H135%)
Jl 118,320
Al 138,040
- 138,040
=otzte] XXX (S0t Z &) 779,560 798,000 218,440 814-815
J|l - 233,868
Al 272,846
-+ 272,846
201 LEt2 | 3,000 3,000 0
| 900
Al 1,050
- 1,050
01 At22teltl 3,000 3,000 0
1)=IILHEIAI E2H| 3,000 3,000
(J1230%, AlHI35%, 7H135%)
| 900
Al 1,050
- 1,050
308 XXISHHISOIH 776,560 795,000 218,440
Jl 232,968
Al 271,79
-+ 271,796
13 SO 2 SOICHEHE A X ETAIS I 776,560 795,000 218,440
1) = IILZEIAL(D1230%, AlH135%, 728135%) 776,560 795,000 A18,440| OJHLHAl BHY 2roH
Jl 232,968
Al 271,79
-+ 271,796
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SA - B OR(BI) - AIRAY - BAS Of &ro %gi HnE2 | HA(E2) A | R
X =Hl W Aot 2] X 1,162,000| 568,500 593,500 816-817
(SR ZHIXIH) (HEAIY)

Al 755,300
T 406,700
307 g1zl 1,162,000 568,500 593,500
Al 755,300
T 406,700
01 2= & 2/=H] 1,162,000 568,500 593,500
1) S E X2 ZHIXI2 (AlH165%, 7H135%) 1,162,000 568,500 593,500 | OJHLHAl BHH SN
Al 755,300
- 406,700
SEXCI2H ¥ KHotrael X 20,000{ 20,000 0 818-819
(Hotet2tel) (HetArd)
Al 15,000
- 5,000
307 2lZtold 20,000 20,000 0
Al 15,000
- 5,000
01 2= & 2/=H] 20,000 20,000
1)ELAI01 F0H(AIBI75%, 2HI25%) 14,000 14,000 0
Al 10,500
- 3,500
LR F0H(AIBI75%, 8125%) 6,000 6,000 0
Al 4,500
- 1,500
FUAL=SIEH 29 1,214,350 1,105,062 109,288 | OJHLHA| B+H ZH 820-821
JI 134,330
Al 537,540
- 542,480
201 Zer=E| 3,740 600 3,140
01 At=2eld| 3,740 600 3,140 | OZAAUSEAE
= AN=HBS et
NE=H S 10 B N2 Al
NACEE A2+ 3,600 s
203 BR=&H| 1,200 1,200
03 A=A R =N 1,200 1,200 0
NEUES UM dRFH 1,200 1,200
307 2lZtold 1,209,410( 1,103,262 106,148 | OJHLHA| B+H ZH
JI 134,330
Al 537,540
- 537,540
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= = — X L= _ =
SH - B O9I(3) - MIRAI - BaS o | TEE | Dz | maE) AR | AR
05 QIZIRIE S 1,209,410( 1,103,262 106, 148
NENALSXIHE 1248 (AlB]150%, +8150%) 833,550 795,322 38,228
Al 416,775
- 416,775
NENAL=XHE 2HHI(AIB150%, 8150%) 107,200 83,300 23,900
Al 53,600
- 53,600
NHAMHLEXIME 12| 268,660 224,640 44,020
(J1250%, AlH125%, 2 H125%)
Jl 134,330
Al 67,165
- 67,165
SE FUALSTAY 201,200 260,000 58,800 OItLHAl BHE 2+oH 822-823
Jl 100,600
Al 50,300
- 50,300
307 QI2to|& 201,200 260,000 458,800
Jl 100,600
Al 50,300
- 50,300
05 RIZtRIE S 201,200 260,000 458,800
NEAALSXHEH T2 24 201,200 260,000 258,800
(D1250%, AlH125%, 72H5125%)
Jl 100,600
Al 50,300
- 50,300
SAIEE XIZd] KI2AY 44,000 36,000 8,000 [ OJtLHAI Bt B4 824-825
= 22,000
Al 11,000
- 11,000
307 QI2to|& 44,000 36,000 8,000
= 22,000
Al 11,000
- 11,000
01 2z & 3=l 44,000 36,000 8,000
1)S3 - HEAA, YYRI|IFHAES 2efiX| 44,000 36,000 8,000
2 XI&(=HI50%, AlH125%, 7H125%)
= 22,000
Al 11,000
- 11,000
Helsg 2394 ALY 73,000 69,350 3,650 826
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SA - BB S9I(E) - KIRAY - BaS o | TEE | Dz | maE) AR | AR
NAHHOISHED| At 2HEs) 450 500 250
301 LEtEHS 6,650 6,650
11 HAIMHIXIR = 6,650 6,650
1MSEXZ0| ZEA22I At S| 6,480 6,480 0
NAFEXZ0I2Y 2| S 170 170 0
KO MBOISEED] ALY 10,000 10,000 0 831-832
Al 10,000
307 212401 10,000 10,000 0
Al 10,000
01 2= & 3/=H] 10,000 10,000
nelzJ2 28Ax S HIE Nd 10,000 10,000
Al 10,000
A0 & JAALSTAY 21,000 20,764 236 | OJHLHAl BHE SH 833-834
Jl 10,500
Al 5,250
- 5,250
307 2I12+01A 21,000 20,764 236
pl 10,500
Al 5,250
- 5,250
05 2IZtRE = 21,000 20,764 236
NEAMAHBSTIME THAHSAIY 22| 21,000 20,764 236
(71250%, AlUI25%, THI25%)
pl 10,500
Al 5,250
T 5,250
SOAUSKIEE Ka0ZAIY el X2 37,036 38,176 A1,140| OJHLHAl BHS 2oH 835-836
pl 18,518
Al 9,259
T 9,259
307 212401 37,036 38,176 A1,140
pl 18,518
Al 9,259
T 9,259
05 212t = 37,036 38,176 A1,140
NEVMAHLSTIHE Traolg o=z X 37,036 38,176 A1,140
(71350%, AlB125%, 2H125%)
pl 18,518
Al 9,259
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SA - EHB . O2(3)) - HISAIY - BAS o | TEE | w2 | BaE) AR | AP
- 9,259
& 2E XA 51,080 54,400 A3,320| OJHLHAl BHH 2+oH 837-838
J| 25,540
Al 12,770
- 12,770
307 QI2+0|A 51,080 54,400 N3,320
J| 25,540
Al 12,770
- 12,770
05 QIZtAErZ 51,080 54,400 N3,320
NENALEXHE IHASSEXE A Q124H] 45,080 48,400 3,320
(21250%, AlH125%, 2H125%)
J| 22,540 24,200
Al 11,270 12,100
- 11,270 12,100
NAASSISAAY 23| 6,000 6,000 0
(21250%, AlH125%, 2H125%)
J| 3,000
Al 1,500
- 1,500
NSNS MBIMUIE SRAS 166,000]  170,000] 24,000 OJILHAI BHE 2% | 839-840
(HAHLEEHHAMEIA)
as 83,000
Al 41,500
- 41,500
308 XXM SOIH 166,000 170,000 A4,000
as 83,000
Al 41,500
- 41,500
13 S| 2SI USHE A X EAIS Y] 166,000 170,000 A4,000
DRSS AMSIMHIASETAIG (HAIHY 166,000 170,000 A4,000
EENAHAHIA) (2E50%, AlHI125%, H125%)
= 83,000
Al 41,500
- 41,500
t2242 A& - ALY XA 4,500 4,500 0 841-842
Al 4,500
307 21201 A 4,500 4,500 0
Al 4,500
01 22 & 3=h| 4,500 4,500 0
1)0ISAHLHE L A= X2 (AIH1100%) 4,500 4,500
Al 4,500

_73_




S - BB B9I(3]) - HIRAIY - BAS o | TEE | w2 | BaE) AR | AP
NEF AL 2EIALS 90,000 0 90,000 | OXIZ AL 0|8t 843-844
A 9,000 Th&H 01 2t A 2 0fl A
HZAY =olps
101 1244 90,000 0 90,000
Al 90,000
04 JI2HH22XSE 90,000 0 90,000
1)FAAFS JREH22K 21215 (AlH100%) 90,000 ol  90.000
2)01=2] 81,600 0 81,600
Al 81,600
2)B8s 8,400 0 8,400
Al 8,400
XIOHotA e 29 1,698,360 1,644,448 53,912 845-846
Jl 833,730
Al 431,865
- 432,765
203 PR F=&IH| 900 1,000 A100
R EESSEEES 900 1,000 A100| OLSEFH| =8 2o
1)XIOHZRIAIR 2ISZEZIHI(2H1100%)
900
307 2I2t0| & 1,697,460 1,599,448 98,012
JlI 833,730
Al 431,865
- 431,865
05 QIZIRES 1,697,460 1,599,448 98,012
1) XIOHOHAIMIE Ql24Y| 1,167,222 1,039,500 127, 722| Oz =520 HE
(J1250%, AlH125%, 728125%) QI4H| S
Jl 583,611
Al 291,806
- 291,805
XIOHCHAMIE A2ER FUZAY| 30,000 0 30,000 | Q& 22X FHAZA
(AlH150%, —2H150%) =g 40 OHE
Z=0H
Al 15,000 o
- 15,000
1) XIOHOHAIMIE 2ZHl & At 500,238 559,948 AB9, 710 [ OJHHAI BHE 248
(J1250%, AlH125%, 7H125%)
2)XIDHeHAIHIE 2| 250,119 279,974 A29,855
(D1250%, AlH125%, 7+8125%)
JI 125,060
Al 62,530
- 62,529
2)XIDHOHAIHIE At 250,119 279,974 A29,855
(D1250%, AlH125%, 7+8125%)
JI 125,059
Al 62,529
- 62,531
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SH - B BRI() - NBAY - BaS oerer | S | ms | BA(E) AR | MRS
XXl =2teld] XI& 189,333 200,000 N10,667 847-848
Al 123,067
- 66,266
308 XXM SOIH 189,333 200,000 N10,667
Al 123,067
- 66,266
13 S| 2SHI et E A& &AL 189,333 200,000 A10,667
1) XIOHXI 22281 K1 (AlH165%, 72H135%) 189,333 200,000 AN10,667 | OJHLHAL B 240
Al 123,067
- 66,266
XES3=FA A 9,79 9,900 A104 849-850
J| 4,898
Al 2,449
- 2,449
307 2I12H01A 9,796 9,900 N104
J| 4,898
Al 2,449
- 2,449
05 oIt &2 9,796 9,900 N104
1NESXIHLC 225AH MEEA X2 9,79 9,900 A1041 OJHHAl BHS 240l
(J1=250%, AlHI25%, 2H125%)
J| 4,898
Al 2,449
- 2,449
a4 gEAHZ2e| 93,770 36,875 56,895 851-852
= 6,800
Al 1,800
- 85,170
201 2B8-2AH| 16,100 12,875 3,225
01 AFR2t2lb] 16,100 12,875 3,225
)2, stil HIYUSE F0H(H1100%) 10,600 12,275 N 1,675
1R SAF E2=1=FH|(7H]100%) 600 600 0
USRS A SSHASE WFHI(FH1100%) 4,350 0 4 350 OZZLH9Z SCHE
dEZlg U=
THOHOI HE BN
1t2A222| X2 200 2iHI=(72H1100%) 550 0 550 OE%:?DH LN el b=
307 2IZ2H01A 24,000 24,000 0
01 22 & 3=H| 24,000 24,000 0
A2 F2M F0H(2H1100%) 20,000 20,000
1)2SARE tAll 20H(72H1100%) 4,000 4,000 0
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S - BB ERA(S) - MTAIR - BES oy | ZEE | ums2 | BB AR | AR
405 KH&HF SH| 53,670 0 53,670
= 6,800
Al 1,800
- 45,070
01 NI EZF SHI 53,670 53,670
Ny L2 X 70H 49,540 0 49,540| O RS ==X
(=H114%, AlHI4%, —2HI82%) wH ®IIX oK
= 6,800
Al 1,800
- 40,940
1) X&&8 (F7H1100%) 3,830 0 3,830
A= 2(7H1100%) 300 0 300
Atefl2e] SEHA RS ALS 84,908 10,000 74,908 853-856
s 39,334
Al 14,200
- 31,374
101 2124H| 38,038 0 38,038
= 15,899
Al 7,169
- 14,970
04 J1ZtHI22 XS24+ 38,038 0 38,038
NIRMZ2I(LE22t5) el24t] 38,038 0 38,038 OJI12HHl &E22tS AL
St WE SN
2)1 2L (2E50%, AlHI15%, 7HI35%) 31,303 0 31,303
s 15,652
Al 4,69
- 10,956
2)Y22tS =S (AIHI100%) 1,560 0 1,560
Al 1,560
2) S22 (AIE1100%) 840 0 840
Al 840
2) 2 2 (FH1100%) 3,840 0 3,840
3)HLES 1,167 0 1,167
R ES S pliedlint= 202 0 202
3)=RHZEE 1,469 0 1,469
3)NEEE 606 0 606
3)ATHEE 3% 0 3%
2)II=HI(2S50%, AldI15%, T2HI35%) 205 0 205
s 102
Al 30
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SH - B CR(BH) - NIRAIY - BAS Off &k ﬁﬁoﬁ HRz2 | BA(32) A | AT
- 73
2) WEH|(Z2E50%, AlHI15%, 7HI35%) 290 0 290
= 145
Al 44
- 101
201 2B-23d| 22,170 3,000 19,170 [ OJHLH Al SN
= 11,085
Al 3,326
- 7,759
01 At22teld| 22,170 3,000 19,170
1sg Z2)d 29 4,000 0 4,000 Ogtzx=z 0 St
(2E50%, AlHI15%, THI35%) 29
= 2,000
Al 600
- 1,400
1225 A A22sns 2AI2 X2 2,400 0 2,400
(2E50%, AlHI15%, $H|35A7)
= 1,200
Al 360
- 840
1NEE22SAF HHEE X 1,200 0 1,200
(ZS50%, AlHI15%, 7*H135%)
= 600
Al 180
- 420
NegEAd2e] g & AMal JHE 1,200 1,440 A240
(ZS50%, AlBI115%, <H135%)
= 600
Al 180
- 420
NgEAd2e E22E 20 5,380 1,400 3,980
(2S50%, AlBI15%, HI35%)
= 2,690
Al 807
- 1,883
1ER2tS A E41=H| 120 160 N0
(2S50%, AlBI15%, HI35%)
= 60
Al 18
- 42
1EU22tS AL SEALSE LS| 870 0 870| ORZRLHIZ ==l
(ZS50%, AlU115%, H135%) MEIOIHE =R
MoHO 2 =
= 435
Al 131
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SN - HE . BRI - NRAY - BAS ot | SRS | Bmz2 | BED) MR | MRS
3 304
NYgAAAL 25 22 204 7,000 0 7,000
2 3,500
Al 1,050
— 2,450
203 LR=XIH| 4,700 5,000 A300
= 2,350
Al 705
— 1,645
03 ARSI 4,700 5,000 A300 | O UPS=EH| RF 24oH
NgerAe S2LIHY 29 2,000 OARIIZIR| & 213
(ZE50%, AlHI15%, TH135%) 292 MIZst
= 1,000
Al 300
— 700
1)e22ts AL Hi3|9f 1,800
(ZE50%, AlHI15%, TH135%)
2 900
Al 270
— 630
NEY D20 29 900
(ZE50%, AlHI15%, TH135%)
2 450
Al 135
— 315
307 RIZ2H0|™ 20,000 2,000 18,000
2 10,000
Al 3,000
3 7,000
01292 2 3= 20,000 2,000 18,000| OJILHAI Bt =oH
1NOBARE 2I2E S 20N 10,000
(ZE50%, AlHI15%, TH135%)
2 5,000
Al 1,500
— 3,500
1)22ARE HYAE QY 3,000
(ZE50%, AlHI15%, TH135%)
2 1,500
Al 450
— 1,050
NegeALRe] JAH 20H 7,000
2 3,500
Al 1,050
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SA BB SRI(E) - KIRAY - BaS ot | E8= | wmz2 | maE) Mn | AP
| - 2,450
Al - 1oT DB (24 H22te| At 237,888 242,184 N4, 296 857-860
- 118,94
Al 35,683
T 83,261
101 e12Ah| 123,420 128,236 A4,816
s 61,710
Al 18,513
- 43,197
04 JIN2Z2RSES 123,420 128,236 AN4,816| OJFLHAIl BHE 2boH
1) I12ERI 141 (FS50%, AlH115%, 72H135%) 123,420 128,236 A4,816
2) eIt 90,720 102,608 211,888
s 45,360
Al 13,608
- 31,752
2)BE = 10,800 12,408 21,608
3)=2H3EE 4,320 4,924 A604
s 2,160
Al 648
T 1,512
3)=H2AEE 3,240 3,824 A58
s 1,620
Al 486
T 1,134
JEIIQYEH 540 472 68
s 270
Al 81
- 189
) NELE 1,620 1,912 N2
s 810
Al 243
- 567
ATHEE 1,080 1,276 A196
s 540
Al 162
- 378
2)EIx= 14,400 8,100 6,300 | OEI& HX} gt ZH
s 7,200
Al 2,160
- 5,040
2)8Z0I 7,200 4,800 2,400
s 3,600
Al 1,080
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A B BE) - AR - Bas | oo | S8 nnsa | BaEd) s | 4RP
- 2,520
2) 1= 300 320 220
s 150
Al 45
- 105
201 £gh=g| 91,568 100,698 29,130
s 45,784
Al 13,735
- 32,049
01 Aty 75,608 60,618 14,990
)E2SE L o4S M 3,000 8,000  A5,000{ OIMHAI B 2o
(ZE50%, AlHI15%, 2H135%)
s 1,500
Al 450
- 1,050
1) X2 LRI (ZE50%, AlHI15%, 72H135%) 9,600 9,600 0
s 4,800
Al 1,440
- 3,360
1)CHAYRE CIHHOI A2 0K 30,204 16,990 13,214 (OCIHIOIA DD -+ &
(ZS50%, Alt] 15%, 2H135%) X (2SI
2)2SEA 0K 28,704 9,740 18,964
= 14,352
Al 4,305
- 10,047
2)MSH 0 1,500 2,250 AT50
= 750
Al 225
- 525
NAREE S 704 504 1,608]  A1,104[OJHHAI Bred 2e04
(2 S50%, AlHI15%, H135%)
= 252
Al 76
- 176
NolEgd QIMEIE 22 201 5,000 24,000 19,000 [OIHLHAL B 2404
(8550%,/\“:”15%,—?[:”35&)
= 2,500
Al 750
- 1,750
DAIATIS X (2 S50%, AlH115%, 2H135%) 26,880 5,000 21,880 | CAIALIAH OIB=
SS23HI(SEHNE
2 13.440 A%rilﬂéag(g%ﬂtn)i
Al 4,032
- 9,408
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SA - - S9(3H) - MRA et | E8= | wmsz | mAER) MR | A4S
DIRINZ22XHE HE AR 2SS 420 420 0
(2 S50%, AlHI15%, H135%)
= 210
Al 63
= 147
02 ZZ2H| 15,90  40,080| £24,120{ CAIAIIH 0182
33=2gHI(SeHNE
NSRRI I(2URH )2
SH= #23
ngesme sdz 10,560 9,840 720
(S50, AlH[15%, 2H135%)
= 5,280
Al 1,584
2 36%
1) RXIRH2IHI (ZS50%, Al6|15%, H135%) 600 2,400 A1,800
= 300
Al 90
= 210
)X REHI(ZS50%, Alt|15%, 78135%) 600 1,200 2600
= 300
Al 90
- 210
NageE ARS2 3323 (&I, =&, I} 4,200 0 4,200 | OAIRA S2+ORN0N [
AQ32)(ZS50, Altl15%, 7H135%) 2zQz A
= 2,100
Al 630
- 1,470
203 BR=&H| 900 1,000 A100
= 450
Al 135
- 315
03 A=A RS 900 1,000 A100 [ O BT =8 2
DA 2 ALY 293]9 900 1,000 A100
(ZS50%, AlHI15%, H135%)
= 450
Al 135
- 315
307 2I2+01 ™ 22,000 12,250 9,750
= 11,000
Al 3,300
- 7,700
012z € 2=l 22,000 12,250 9,750| OCIBIOIA 2171 28I
= SH(EL L)
NEFREA 2 M 9,000 2,250 6,750
(S50, AlHI15%, 2H135%)
= 4,500
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- _ _ X L= _ =
SN - HE . BRI - NRAY - BAS ot | SRS | mms2 | maER) Mn 4R
Al 1,350
T 3,150
nEsEA =Y HETH 6,000 3,009 3,000
(2E50%, AlH115%, 2HI35%)
nag 3,000
Al 900
2,100
ARARB(HIYAL, 24, 2B 5) 7 7,000 7,000 v
OH(ZE50%, AlH115%, 2H135%)
nag 3,500
Al 1,050
- 2,450
HY2HZEH| 1,739,359 1,876,198 ~136,839
Fag 85,363
Al 1,305,413
- 348,583
J|234b| 280,392 320,696 N40,304
Fag 788
Al 10,211
- 269,393
J1=2Z4I(XHA) 264,222 303,056 N38,834 861-862
201 et23H| 150,738 158, 156 NT7,418
01 At22teld| 150,038 157,056 A7,018
DARESE & ARE 204 24,750 27,500 N2, 7501 O7H| & =&
1)ARL2 £=2ld] 900 1,486 A\586
)24 2| 87,648 89,760 A2, 12| O &H| &N =5
gty A
1)EAZEXE F=XHI 9,900 9,900 0
1)t DS 2,760 2,810 A50
2)2tSAF & BE4£1SH| 2,560 2,560 0
2)B2HAI AT} WEH| 200 250 250
1)ILI=H| 24,080 25,600 N1,520
2)ABA 2B 3,600 5,120  A1,50|02BIt2 4 FF
2)2tS Al 222 16,000 16,000 0
2)2tS A 2235} 4,480 4,480 0
02 B2 700 1,100 2400
1)B2o2 &Hl KA 400 400 0
NEAN S5 2A2E F0H| 150 100 50

_82_




SA - BB ERI(E) - KIRAY - BaS ot | SRS | ums | mAER) MR | RS
NY2E 28 FUHE 2R3 150 600 450 O%*l—‘?; SHE oKl
=N
202 04l 107,184 138,600 A31,416
01 S| 107,184 138,600 A31,416
1122804l 107,184 138,600 A31,416( OMHl &M =F
vl A
203 BR=4| 6,300 6,300 0
04 RAN2EHRFEI 6,300 6,300 0
NEN2ELRFE 6,300 6,300
Jl2gul(E=x) 16,170 17,640 A1470|OB2A 298 & A 863~865
urey 2o
= 788
Al 10,211
- 5171
201 L] 12,210 13,320 A1,110
= 758
Al 9,822
T 1,630
01 AtR22t2ld| 5,610 6,120 A510
1ESRE(RIIAH) OlI=Hl 5,610 6,120 Ab510
2)MS0| A& HZS(AIEI80%, 7H120%) 1,020 1,275 A255
Al 820
- 200
2)H24 H2AZ22|(AlIHI80%, HI20%) 3,825 3,825 0
Al 3,075
T 750
2)AlliZel MERA LAY 765 1,020 VAVESS)
(ZS40%, AlBI12%, 72H148%)
= 308
Al 92
- 365
02 3&=2gH| 6,600 7,200 2600
NERA(RIHY) ALZAEH] 6,600 7,200 2600
2)ME01 242 HZS(AIHI100%) 1,200 1,500 A300
Al 1,200
2)0{ 24l gr222el (AlH1100%) 4,500 4,500 0
Al 4,500
2)AtedZel M N AR 900 1,200 A300
(S50%, AlHI15%, 72H135%)
s 450
Al 135
- 315
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SA BB BIEN) - AR - Bas | olee | S8E | wnsw | BaEt) As 4R

303 &= 3,960 4,320 2360

= 30

Al 389

- 3,541
01 Zat= 3,960 4,320 A360
N3RA(RIH2) Sel=H4H| 3,960 4,320 A360
2)Mi=EctE| 880 960 280
3)MS0L| 212 X2 S(THI100%) 160 200 A0
)24l wEA22e](F2H100%) 600 600 0
3)ARRIZER] FSLTIH AR (PHI100%) 120 160 A0
2)ML=5S 1,100 1,200 A100
3)MES0LI| 242 HZS(AIHI40%, +H160%) 200 250 250

Al 80

2 120
3)01241 SRR (AlBI40%, THIE0) 750 750 0

Al 300

- 450
S)At2te] MEHIAN IHE AL 150 200 A50

(ZE20%, AlHI6%, 2H174%)

s 30

Al 9

- 1
2)Y¥E - 2212 JIEEH| 1,980 2,160 A180
NS0 A2 HZS(FHI100%) 360 450 A90
3)0i2al wEA2d2te|(72H1100%) 1,350 1,350 0
3)ArIRIR] FERH et Ak (THI100%) 270 360 A0
kel 1,458,967 1,555,502 296,535

= 84,575

Al 1,206,202

= 79,190

ol (AteflZel MEMAH HEAY) 197,739 287,860 A90,121 866-868

s 84,575

Al 34,474

= 78,690
101 el2d| 164,506 240,900 NT6,39%4

= 77,703

Al 32,411
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S - "B - BRI(S) - HIRAIY - BAS ot | SRS | ums | mAER) MR | RS
= 5,39
03 ZRA (I 2EN2S 164,506] 240,900 A76,39%| OL 2B A2 2
189 E&0 e
2ot
1SR (RIIHL) 22X 12| 123,594 159,973 236,379
(ZS50%, AlHI15%, T2H135%)
2)es 114,087 147,667 233,580
s 57,044
Al 17,113
- 39,930
2)HESIHI 9,507 12,306 22,799
2 475
Al 1,426
- 3,328
NERI(PIIAHY) 22X =< 40,912 80,927 240,015
2)HRIH RS2 S50%, Albl15%, 2H135%) 1,080 1,440 2360
s 540
Al 162
- 378
2)J|1sEA(X=A) =g 1,080 1,440 2360
(ZS50%, AlHI15%, T2HI35%)
s 540
Al 162
- 378
2) It EE(TZS50%, AlBI15%, 8135%) 3,000 5,760 A2,760
s 1,500
Al 450
- 1,050
2) A2l 2 S50%, Aldl15%, —U135%) 19,140 24,801 Ab,661
s 9,570
Al 2,871
- 6,699
2) ARt =S (T S50%, AlHI15%, T2HI35%) 7,512 27,386 A19,874
s 3,756
Al 1,127
- 2,629
2) Y22t =S AlHI100%) 4,680 6,240 A1,560
Al 4,680
2)=22=2(AIHI1100%) 2,520 3,360 AB40
Al 2,520
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S - YO (FH) - ARAY - BAS Ofl &bt %goﬁ Hnsz | BA(EZ) Ale | Ll
2)s224+Y 12,600 12,600 0
Al 12,600
2)¥24g 9,060 0 9,000 (O 2 &g AL
=2 =O0H
A 9,060 e =
304 IZRL2S 160,425  180,335| ~19,910
Al 160,425
04 Z2Z(DI|H) 22X EEEREHE S 160,425  180,335| ~19,910[OS AKX 19 erdof
= DJIOH
NREN(LIH 2R A2 Il woo|  woo| svaw|
=2 (AIHI1100%)
Al 33,060
2P (LI|H) 22X 2pIgi= J|Be 37,260 30,825| 2,565
=3 (AI1100%)
Al 37,260
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